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ooooYoo00.000000o0ooon

T — wiro, 1)
O00r00000O00O000DOO0OO0OOOO0OOOOO0d TZ(LE,Z)DDDDDDD dreO0QO0O0O0O

ro =1 +dr

gboooobooboor-0oo0o0oobooboobooboaon

dr)? dr)?
rozr—i-drv-ro—l—%v%o—i—-n:7'—|—(r0—r)V-r0+(;) Virg +---
oobobooobooob tbboobo 2000b000b00bO
dro dr dro\
T + (ro —7r)V- (dt) =uv(r,t) + (ro —r)Vo
=Vo¢+ (ro—7)V30
=Vé (17.29)

gooooooboooboobo

dro e _ [9¢ . coshk(h+2) / . _ coshk(h+ 2)
/ (dt)m dt - § = X xr = / %dt = GWW Sln(kl' wt)dt = QW COS(/ﬂ.T wt)

dt sinh kh sinh kh

00 p000 A/20000000000 1% 0000000000000
17 0000000000000 0000000000000000®¥ 000000

Y
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gboooobooooboobo

& ¢
7+ S =1 (17.30)
coshk(h + 2) sinhk(h + 2)
4 sinh kR T sinh kh

00000000000 00000Ocosh(z) > sinh(x) 00000000000 O00000O0 acoshk(h +
z)/sinhkh, 000 asinhk(h+2)/sinhkh 0000000000000 O0OO0OOO0OOOOOOOOOOOO
rO000O0O00O0DOOOOOOO0O0O0DOO0O0OO0O0ODOOODOOOO0OOOOODOOOO 0000000
"O000"0000000000000000000000D00Db000

Flig.74
oooooog

Ww
&

17.4.1 00O

ooooboooooooobb wOOD kOODODOOODOOOOODOOODOODOOODOOODOODOO
gbooooboooobOobooooboobooooboobooooobon

Fig.75
obo-oboboooooo

2a cos(Akx — Awt/2)
vy = dw/dk

~
ooo

sin(kz — wt)
v=w/k
gogod
ki 4k
Aw=w, —wy, Ae=k—ky, = 1; 2 @:‘*’1;“’2

goboobo2000b000b0b0boobooobooobooboon
1 _
n(z,t) = asin(kyz — wit) + asin(kex — wo) = 2a cos i(Akx — Awt) sin(kx — wt) (17.31)

0000000000 2acos(Aks — Awt)/20 sin(kz —wt) 00000000000000000000000
0000000000000000000000000 (group velocity) 10 000000000000000

ooood
dw kv dv dv ”k‘:2£—>dk'*77d>\

YTk T dk dk o O ) 2 (17.32)
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0o00001721)0000000 v, 000000000

1 /2
w? = gktanhkh, v= 51/ Etanhk‘h
dw h
2w— = gtanh kh + gk————
ak ! IE cosn® kh
2kh
= h 1+ h 1+ ——
g tanh kh ( coshkhsmhkh) g tan kh( +sinh2kh>
d 2kh hkh 2kh
X _ 9 tanhkh L R tan -
dk 2w sinh 2kh 2 \/gktanh kh sinh 2kh
1 /g 2%h 1 %N
=—y/Ztanhkh 1+ —— | =zv |1+ ———+—
2\ & ( +sinhzkh> 2”< +sinh2kh>
1 2kh
— o1y 17.
Vs 2”( + sinh2kh> (17.33)
gooooooooooo
limﬂ—lim;—l ]imﬂ—limi—o
h—0sinh2kh  h—0 cosh2kh h—oosinh2kh  h—0 cosh2kh
00000000 —0)00000R—oo00000OODOOOOO
1
0000 w=5v (h—0) (17.34)
0000 vg=v (h— o) (17.35)

obooooboooooboooooooboooooob oooobo0oooooobooogoooooonag
obooooooooooo

17.4.2 000

gboooooooooobooobooobos oobooooooboooooooooooobooooobooooaon
obobooobooOoobooobooboboooooobooobOoooooooooooOoooboooboooooo
obobooooboooobooooobooboooobooobooboboobboooooboboobobooboobboobooOoooDo
oooooooooooobooooboboboooobooooobobboooobooboooooo

gbooobob 00000000 0DO0DOO00OO00O0O0ODOO0bOO0ObOO0O0DOOobOOobOoO0LDOobOOobOoO0DOgn

0oooooo <8¢> =0 (17.36)
O =0
oooooooo 0o 0O0O00DOOOODODOOOO
_agcoshk(h+ z)
o= T eosh b os(kx — wt) (17.37)

oboooboboooboboooboboboobo0oob0ooo0ob0ob0o0bOo0ndD progressive wavel O 0
gbobooooooobobobobooboooboooooooboooboboboboboboboboonoag

00000 ¢ 0000
ag cosh k(h + z)

__[ageoshk(h +2) ageoshk(h+2) .
K = {w cosh kh cos(ka —wt) + W coshkh cos(—kz — wt)

__agcoshk(h+ z)

P {cos(kx — wt) + cos(kx + wt)}
ag cosh k(h + z)

=_97 S /s 17.
o kh O kx coswt (17.38)

oboooobooboooooboboooboobooboowrs3eoonoooon

1o20) e _ 2k%coshk‘(h—l—z)
or ), _, a w cosh kh

sin kxcoswt) =0 (17.39)
=0
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n=—- () = 2asin kx sinwt (17.40)
z=0

boboboboboobooboobooooboobu 0000000000000 0OO0OO0OOO0O0OOO0DO
0000000000standing waved 000000000000

O00000000OOCOO0O00000DDOOnede0DODOODOOOOloopOO0DODOOOOOOO17.400
ooooog

0o xzi("ﬂimﬁ n=0,%+1,£2,.--
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oooooooooooooooooooooboooooooooooo0oooo0od ~0o0o00000000000
00000000000000000000000000000000001
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